
NSN 6525-01-110-1998
X-ray Appar Tube Stand Parts Kit - Page 1 of 1

View Online at https://aerobasegroup.com/nsn/6525-01-110-1998

Product Name:

Parts kit tube stand x-ray apparatus

Unit Of Issue Cube:

0.001 cubic feet

General Description:

C/o 5 cap nuts 3/8-16 thd;  2 internal lock washers 1/2 in. Id, 5/8 in. Od, 1/32 in. Thk;  2 double end studs 3/8-16x2 in. Lg thd;  1 button

socket cap screw 5/16-18x1/2 in. Lg thd;  2 hex head nuts 5/16-18 thd;  1 hex head nut 1/4-20 thd;  2 hex head machine screws 5/16-18x1

in. Lg thd;  1 hex head machine screw 5/16-18x1/2 in. Lg thd;  1 hex head bolt 1/4-20x1-1/4 in. Lg thd;  4 plastic washers 3/8 in. Id, 7/8 in.

Od, 1/32 in. Thk;  5 plastic washers 3/8 in. Id, 5/8 in. Od, 1/16 in. Thk;  1 spacer metal 1/4 in. Id, 5/16 in. Od, 15/16 in. Thk;  1 spring 4 turns

3/8 in. Id, 7/16 in. Od, 7/16 x 5/8 wire size 0.05 in.;  1 bolt plain pan head keyed 3/8-16x1-3/8 in. Lg thd

Shelf Life:

N/a

Unit Of Measure:

--

Demilitarization:

No

https://aerobasegroup.com

